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Obiphve: Find o Ruuchon’s Domian.

Key: The domara o£ o L.\..km e £(x) i the
nek ol neel wumbenn : (-0, 00) ualenn x
appeans in tHhe dumomindon on % appeann in
o nauene net (on o cvun nast).

Eg A6 = 2 -Fx 412

m g..u\(kon. Lbn"l;v\h m&\m O AMM‘J'DI\ noan oo
hc‘uw\c. Mot .

Sortle domsinof £ +he s of ol nacld mismbina.
Pomain of f = (-, 00)
E.gq. Funkon S x wn the denomuchn.
Key: To fud tha domain of mudha Rindhion, we nasd
o Qd e villan f x Hdd canne the denemivdon
2(1‘»»& o gno. The domain Wil be tha ned of el
nnmbens U&A;,,a thore valian |
Fid the domain .
® 4 =4

x -3
Shepl: Sab demominadin =0 ond nole fn x.

x -3 =0 — x =3.
N st
(lﬂ.m.
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Titoned Mohbion: [(Ce0,®) U B
> wnion

Sat notahon: %x\ )L:':?)}
DAl

&V—L‘ St Dovcemindbn = 0 and nelle P x.
x-2x-3 =0
(% -3)x +1) =0 (Faden)
x-3=0 x4l =0
x = 3 x= -4

S“'Ee 2. Wate Domoin tn watawd wchhoa on pot

netahon.
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Q& robshon: Sx‘x:’:-i, 11:3];

/\
3 2\(1) ] Sx e
2 A s g Do

S"‘Etl Sd Auom :O aoij ooQVQ %’\)L

- 49 -0
(x-ND(x+?) =0
x=-3 =0 x+3=0
x =3 x= -3
Sk A
e \Dg(-.o,-;t)u(-?,n)u(},.o)

S Nohahan \jx‘ xF +, xF —@

_—E_;z-. FW‘GJ\.D"’\ -uﬂd /Q-""'- x \\n &AC\\A‘IM Md'"

Kn.z: The foNumion. uw\cim e Aguone J\on'\’nxan
(.o-vww+ L-. ht%a.’(vn. —ra ‘g‘tl '}Lﬂ- Aoma:m., we ‘l'A.LA

‘\"9\1 a.x?mn{on w'\jo\. Jf£\¢ Aguane noat n\'an MJ mt

% g > O avu! AoQue. tha m&l‘wa mn.g‘wx.Q."-a
The nolkiom = the ;m,w.ﬁ;!a w Hha domain .
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Fid Yhe doman
@ x("-) = l3x+ ARy — ﬂ.nfmnim wmlm'b'u.

/)q\m mm"'

g-Hi A. Set £xpRanmion wnt.‘uxmlvm{ nt >0
Fx+i2 2O
g*fe')y Solue the maqw.ﬂ-L&
3 > -412 (Su\:‘l’:\u& ‘.L‘Z)
x = -1 (D;V-‘laLas)

x > -4
Step3: Con&m;mdﬂﬁ
[ ; - [-
Wz N = [ 4, oo)
(\-n'l“n-nvt& no"aj\m)
glj' w\'h}'wn'. D: %)L 3L>/ —4}

D 4(x)= |27 -9«
Stepd. Sat exprennion anden rquarenost Z O
27 -49x o
Step2: Sl Hae WTJUB
—9% 2 =27 ( Subtad)

Ax ¢ =23  (Dwideb, -9
S by -3)
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v €3
Chep3: Conclaniom.
= Jopprtaanngs | D = (-m,3]
— 00 3 o0

To et mobabion : D= §u |23}

E.g. Fundom that Liave x (n o sqmane nect thd
in m the denemundn.
Key: Sai the. axprammion wadan He Aquone. et >0
( Aine the rquane rect i un the devamioaden , & consi
be oquld 4 o)

Fund he Jom-_®£(,‘) - Ax +2
¢Zx-lk

g‘l‘ﬂi: 2x-14 >0
g'\'ft?-, 2)1.51,‘._ - 1D % o x>+
g‘\'EEB: Concﬂwmn D= (?-,..)

'(x): 5x .
@ & \124—31 \

S"fﬁi’ 24 -3x SO

D= (-w, 8)

'3\1_.‘32-. -3x°> =24 - >L<%—.x<8
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LoFonmada: (34 () = £0) 4 4x)
(ajir%mn&u %o fed g od
D= 4443 e
Fommsli (3 - 9 )(x) = ) - g(x)

(Shtradd ad Senplify )
D Puded of f ol E e A

Pl (3 3) () = () 5
(Mllipy wd Simglf)
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